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X5196
0 x 5196 = 0

1 x 5196 = 5196

2 x 5196 = 10392

3 x 5196 = 15588

4 x 5196 = 20784

5 x 5196 = 25980

6 x 5196 = 31176

7 x 5196 = 36372

8 x 5196 = 41568

9 x 5196 = 46764

10 x 5196 = 51960

11 x 5196 = 57156

12 x 5196 = 62352

13 x 5196 = 67548

14 x 5196 = 72744

15 x 5196 = 77940

16 x 5196 = 83136

17 x 5196 = 88332

18 x 5196 = 93528

19 x 5196 = 98724

20 x 5196 = 103920

21 x 5196 = 109116

22 x 5196 = 114312

23 x 5196 = 119508

24 x 5196 = 124704

25 x 5196 = 129900

26 x 5196 = 135096

27 x 5196 = 140292

28 x 5196 = 145488

29 x 5196 = 150684

30 x 5196 = 155880

31 x 5196 = 161076

32 x 5196 = 166272

33 x 5196 = 171468

34 x 5196 = 176664

35 x 5196 = 181860

36 x 5196 = 187056

37 x 5196 = 192252

38 x 5196 = 197448

39 x 5196 = 202644

40 x 5196 = 207840

41 x 5196 = 213036

42 x 5196 = 218232

43 x 5196 = 223428

44 x 5196 = 228624

45 x 5196 = 233820

46 x 5196 = 239016

47 x 5196 = 244212

48 x 5196 = 249408

49 x 5196 = 254604

50 x 5196 = 259800
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